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B 1. The following table shows the total cost of a firm in a perfectly competitive market.

(ose2013(F) (ose2014 () (ose 2015 ()

Output (unit) 0 1 2 3 4 5
Total cost ($) 5 20 40 65 95 130

Given that the profit-maximizing output of the firm is 3 units. Which of the following is correct?

A.
B.
C.

The firm is producing in the long run.

When the firm’s profit is maximized, the total variable cost is $65.

If the market price increases by $5, the firm’s total variable cost under profit-maximizing
output will remain unchanged.

If the marginal cost of each output decreases by $10, the maximized profit and producer
surplus will be $45 and $50 respectively.
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BN Srm 2) 8N (total cost) vs. #BaIEmAY I (total variable cost)
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Output (unit) 0 1 2 3 4 5
Total cost ($) 5 20 40 65 95 130
Total variable cost (%) 0 15 35 60 90 125
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E A 3) hinERESoS 2802 (total variable cost)
ETHER A $5 - BBEWAEH $25 EINZE $30 o FEEALES R HBEBRKA = 2K
KERE  AFBEERACESENEHh 3 BEMAIEINE 4 B - ZMENAR BRI eEE
HESMmMEM - BHitt - 328 C WA IEHE -

Output (unit) 0 1 2 3 4 5
Total cost (%) 5 20 40 65 95 130
Marginal cost (3) - 15 20 25 30 35
Total variable cost ($) 0 15 35 60 90 125
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F.Eﬁﬂﬁ (4) T (profit) vs. EEERER (producer surplus)
BEMEDNERNARDT $10 - FEEA(CEE RS H 3 BLIEINE 5 B -

Output (unit) 0 1 2 3 4 5
Total fixed cost ($) 5 5 5 5 5 5
Original marginal cost ($) - 15 20 25 30 35
New marginal cost ($) - 5 10 15 20 25
FE = U - B ERR - BEFEKZA =$25 x5 - ($5 + $10 + $15 + $20 + $25) — $5
= $45

EE%%%*—M&)\ ARRTEEARR = FB + MBEERKA = $45 + $5 = $50
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B 2. The following table shows the information of Country A. (ose203(E) (ose2014 (D) (osE2015 ()
Sugar (units) Oranges (units)
Total product without international trade 72 AND 108
Total product with specialisation and trade 0 AND 252
Total consumption with international trade 108 AND 144

Which of the following statements about Country A is correct?

A. Country A has an absolute advantage and a comparative advantage in producing
oranges.
B. The gain from exporting 1 unit of sugar is 1 unit of oranges.

C. The opportunity cost of producing 1 unit of sugar =% unit of oranges and the terms of
trade are 1 unit of sugar = % unit of oranges.

D. The welfare level of consumers in Country A increases after trade.

Nt 5) BFALLE (terms of trade)
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B 3. Refer to the following balance sheet of a banking system. The required reserve ratio is 20%.

(osE2013 (@) (ose2014 (F) (DsE2014(FP) (DSE 2015 ()

Assets ($ million) Liabilities ($ million)
Reserves 250 Deposits 1 000
Loans 750

If the central bank issues $150 million in newly-printed currency, the cash held by the non-
bank public will increase by $100 million and the money supply will increase by $400 million.
The total excess reserves of the banking system are

A. $40 million
B. $50 million
C. $60 million
D. $80 million

S (money supply) vs. SEEET (monetary base)
EMHE = ARATHENERS + TR

ERER (FRIBITHRSETE) = BT R2RALFENES + RITFENHRS (FH)
PRI THTENRY Rig - IRITHVRER -

250 + (150 — 100) = 300 A& T

RRERTTHT DR RI& - IRITHVER

1 000 + (400 —100) = 1 300 A& T

FBEAREME - 300-1300x20% =40 BETT

Rt - RTE A R IEHEEE -

Lzl =r—ROBEBHRSHERESEBOAR  BRAESKER -

A ms ZEATAAHTEBHRERSSERNKE REERELEFEANR - WHERT
BRKRITER - BEEFERITBR -



Competition and Market
Structure
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In Hong Kong, the market structure of the railway service linking Hung Hom and Lo Wu is
228 (Dsk 2013 (Y

A. oligopoly because there are different types of transport to the mainland of China.

B. oligopoly because the MTR could raise the fares without losing all of its passengers.

C. monopoly because only the MTR provides railway service linking Hung Hom and Lo Wu.
D. monopoly because the MTR does not have to face competition.

Answer: C
¢
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B a

Choose the BEST answer for each question.

@ 1.

Which of the following does NOT
involve a ‘market’ in Economics?

A. Ming buys vegetables in the market.

B. Mary subscribes to a book on the
Internet.

C. Peter’s father repairs a computer for
him.

D. Amy sells her own textbooks to her
brother.

Every time Ming does massage for his
father, his father gives him $2. Today,
after Ming helps his father do massage,
his father does not give him $2, but agrees
to bring him to Hong Kong Disneyland.
Which of the following is correct?

A. Since he has not received money,
the opportunity cost for Ming to
do massage for his father remains
unchanged.

B. Since Ming’s father does not have to
pay money, the opportunity cost for
enjoying massage decreases.

C. Since Ming does not receive any
money in return, there is no exchange
between Ming and his father.

D. Doing massage is an exchange of
service between Ming and his father,

so a market exists.

3.

£ 4.

B4 ]

Which of the following most probably
leads to the existence of a monopoly

A. The government solely produces a good.

market?

B. The scale of firms in the market is huge.

C. Entering the market requires a lot of
resources.

D. The existing firms enjoy economies

of scale.

Which of the following is an example of
a natural monopoly?

A. China Light and Power Company
Limited

B. Peak Tramways Company Limited

C. Cathay Pacific Airways Limited

D. Water Supplies Department

Which of the following statements about

a perfectly competitive market is correct?

A. The sellers are price takers because
they do not have power to affect the
market price.

B. The sellers are price takers because
they sell homogeneous goods.

C. The sellers are price takers because
they buy in bulk.

D. The sellers are price searchers because

they have to face competition.
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Refer to the following diagram.
Price level
—>
AD,
AD,
0 Aggregate output

Which of the following would NOT lead to the change in the above diagram?

A. Private saving rate decreases.
B. The government raises the expenditure on infrastructure.
C. Firms expect poor economic prospects.
D. The economy of the country’s trading partner improves.
Answer: C
R E
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31.

32.

The figure below shows the AS-AD

diagram of an economy.
Price level

LRAS
SRAS

AD

Aggregate
0 output

If the economy is at point E, it shows that

(1) the long-run aggregate quantity
supplied is equal to the aggregate
quantity demanded.

(2) the labour market is at full
employment.

(3) the equilibrium aggregate output is
equal to the potential output.

(4) the price level has no tendency to
change.

(1) and (2) only

(2) and (4) only
(1), (3) and (4) only
(1),(2),(3) and (4)

oo w >

Suppose the economy is originally at
long-run equilibrium. If the exchange rate
of the domestic currency increases, the
long-run equilibrium price level would

and the equilibrium output
level would

A. increase ... decrease

B. increase ... remain unchanged
C. decrease ... increase
D

. decrease ... remain unchanged

33. Suppose the economy is originally at

long-run equilibrium. If people expect
the price level to decrease, which of the
following could illustrate the condition?

A Price level

Aggregate
output

N

Y, Y.
—>

Price level

0 : Aggregate
Y, Y, output

C Price level

Aggregate
output

D Price level

Aggregate
output
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39.

40.

The table below shows the information of

an economy.

Short-run | Long-run
Aggregate
. ] aggregate | aggregate
Price | quantity it antit
nti uanti
level |demanded qua ) Y14 . Y
. supplied | supplied
(units) . .
(units) (units)
300 240 160 190
330 220 180 190
360 200 200 190
390 180 220 190

Which of the following are correct?

(1) An inflationary gap exists.

(2) There is a downward trend of wages.

(3) The short-run equilibrium output
level is lower than the long-run
equilibrium output level.

(4) The economy would automatically
adjust to the long-run equilibrium.

(1) and (2) only
(1) and (4) only
(2) and (3) only
(2),(3) and (4) only

o0® >

Suppose the economy is at the long-run
equilibrium. If the government increases
the salaries tax and profits tax rate at

the same time, the short-run equilibrium

price level and output level and
respectively.

A. would increase ... increase

B. would decrease ... decrease

C. may increase, decrease or remain
unchanged ... decrease

D. may increase, decrease or remain

unchanged ... increase

41.The figure below is the AS-AD diagram

of an economy. It was originally at E,.

Price level
LRAS SRAS

AD,

Y, Y, output
(—

Aggregate

Which of the following would make the
economy adjust to E,?

A. The saving rate decreases.

B. The lending rate of loans decreases.
C. There is a series of terrorist attacks.
D.

The production technology improves.

. The figure below is the AS-AD diagram

of an economy. It was originally at E;.

DSE 2014 (0k}]

Price level

LRAS, LRAS,

Aggregate
Y, —>Y, output

Which of the following is / are correct?

(1) Production technology improves.
(2) Potential output increases from Y, to Y.

(3) The cost of raw materials decreases.

A. (1) only
B. (3) only

C. (1) and (2) only
D. (2) and (3) only
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whf# 3= 5f

Chapter 1 Basic Economic Concepts

1.

C

(1): The existence of scarcity is not related to
whether the supply of resources is fixed. If
the fixed resources are enough to satisfy all
the people’s wants, there is no scarcity.

(), (3): The condition for the existence of
scarcity is limited resources are not
enough to satisfy people’s unlimited
wants.

D

When people have to make choices, cost will
exist. Conversely, if there are no choices, there
is no cost.

A: The existence of scarcity implies that people
have to satisfy a maximum number of wants
under limited resources.

B: The existence of scarcity implies that people
have to make choices among the options.

C: The richest people still have to face the
scarcity problem.

B

If a good is scarce, it implies that the quantity

of the good is not enough to satisfy all the

people’s wants. It means that people want to
get more of the good.

A: When a good is rare, if the quantity is
enough to satisfy all the people’s wants, it is
not regarded as scarce.

C: When the price of a good is lower than the
equilibrium price, there is a shortage in the
market and is not related to scarcity.

D: Even if resource allocation is perfectly even,
it does not mean it could satisfy all the
people’s wants.

A

Since the limited resources could not satisfy all
the people’s wants, scarcity exists. Therefore,
we practise division of labour to produce more
resources to satisfy people’s wants.

B: This is because shortage is caused by the
price being lower than the equilibrium price.

C: Scarcity exists when the resources are not
enough to satisfy all the wants.

D: Opportunity cost exists because there are
choices.

A

Scarcity refers to situations that resources are

not enough to satisfy people’s unlimited wants.

In a desert, the quantity of sand is enough to

satisfy all people’s wants. Therefore, scarcity is

least likely to occur.

B, C, D: People want to get more of the goods.
Their quantity is not enough to satisfy
all the wants.

C

This is because Peter has no other choices

due to sickness. He could only give up the

job so opportunity cost does not exist for his

behaviour.

A, B, D: In their choices, they need to give up
the options with the highest value.
Therefore, opportunity cost exists.

C

The opportunity cost for buying the concert
tickets of BOP is the disc of BOP. If there are
flaws in the disc of BOP, it would reduce the
value for Tom to buy the disc. Therefore, Tom’s
opportunity cost for buying BOP’s concert
tickets decreases.

A: It does not affect the opportunity cost
of buying BOP’s concert tickets. It only
increases the opportunity cost of watching
the concert of BOP.

B: This option is not the highest-valued option
forgone.

D: The value of watching BOP’s concert
increases.

B

The opportunity cost for Yan’s trip to South
Korea is to travel to Taiwan. Only if there are
changes in the highest-valued option forgone
would the opportunity cost change. When
Taiwan is attacked by a storm, this would lower
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